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2Ex Find d9dx where 3 y L
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Ex 3 Find dldx sin logax Xlogca
Solution y sin
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Implicit Diff Solve

RelatedRates
General Drawpictures and write out known unknowns then usually
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Ex 1 A 5M ladder is slidingdown a wall

Lee h height of the ladder at top attime E
x distance from wall to ladder'sbottomat time t

If ladder isslidingdown at a rate of 1M Find dHdt
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Ex2 A man of 2Mwalksawayfrom a 10M lamppost at aspeed of

12ms Findrate at which his shadow is increasingin length
Definevariables
E x isjust distance

of person to lamp
10M y is length ofshadow
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